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EEIZEE 217,152, 251
FEE 217,152, 251
AET [—voA] 217,152, 251
= BT 213, 565, 904
=y UEIEREM 95, 166, 797
1 r—y VEEREMRE 1.00 2,119,384 2,119, 384
=
2 r—y UEEREMEE 1.00 93,047, 413 93,047, 413
=
=] 267, 320
3 IIL—T 4 UTHE 410. 00 652 267, 320
m2
vk 5,130, 000
4 ERERE< Y I JL%<v b (B4%) t=30mm 1.00 5,130, 000 5, 130, 000
B
25 8,837,212
5 SRR HHBEELL 1, 608. 00 2,791 4,487,928
m 2
6 NEHEELL 1,996. 00 2,179 4,349, 284
m 2
5] 26, 576, 031
7 #KEAIHEIL (D13) SD345 58, 289. 00 190 11,074,910
kg
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£ 5 R - KT E B4 B = B ff il | wmE

8 $x#HN I HEL (D16) SD345 12,213.00 188 2,296,044
kg

9 $xFINTHESL (D19) SD345 35, 203. 00 188 6,618,164
kg

10 #k#hnTHEL (D22) SD345 217, 601. 00 188 5,188, 988
kg

11 gk#nITHEL (D25) SD345 6, 625. 00 188 1,245, 500
kg

12 REBHMHE SS400 ¢ 55mm L=2. 75m 8.00 15, 200 121, 600
X

13 B WML SS400 ¢ 55mm L=2. 75m 411.00 75 30, 825
kg

EiLy 39, 287, 599

14 RSB ST 4B 4 6, 283. 00 6, 253 39, 287,599
m2

avy)—+ 38, 300, 945

15 av9)— MTE 30N-12¢m-20mm BB W/C50% 1,195.00 32, 051 38, 300, 945
m3

= UHEKEMHT 3,586, 347

HEIK 865, 956

16 77—y UK 2,927t/K 1.00 865, 956 865, 956
=]

RiE 2,720, 391

17 57—V URE 2,9271t/® (GEERE) 1.00 2,720, 391 2,720, 391
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% Q) S - KT 1 & ff & @ L

HEREE EL 20, 656, 378
HBRER 20, 656, 378
HBREE 20, 656, 378
Elffi - ZLVE 20, 189, 668
B 19,032, 278
18 EHE () FD5, 000t R8s (ALL) i~ S ik (ER) 1.00 9,516,139 9,516,139

m
19 EHEQ FD5, 000t s s ~ eI B (L) 78 (7ER) 1.00 9,516,139 9,516,139

m
Z UM 1,157, 390
20 ZUBE D) ERIN0F HREBRER ~EHEE (@ 1.00 578, 695 578, 695

)

m
2 AVHRE EERM00LR Shss~RRE BRR (@& 1.00 578, 695 578, 695
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EF3 ] 346, 710
REMEK 346, 710
22 REHERM FOAEE. 77—V VEKRER 1.00 346, 710 346,710

E
RinEEE 120, 000
BinEE 120, 000
23 REEE EREDARE (1T 1.00 120,000 120,000
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£ g B - BIKTE ==Eiv3 B = B @ * & W E
BEEIZE 217, 152, 251
MEIEH 34,228,393 + 60, 884, 301 95,112, 784
HBERFEE GH 20, 656,378 + 12,551,400 + 1,020, 615 34,228, 393
#BREE (/L) 20, 656, 378
HBREE (X ) 217,152,251 x 5.78% ((4.17% x1.00 +1.50%) x 1.02) 12,551, 400
HEREREE 217,152,251 x 0.47% 1,020, 615
RiGEER 251,380, 644 x 24.22% ((22.02% +1.49%) x 1.03) 60, 884, 391
T=IRf 217,152,251 + 95,112,784 312, 265, 035
—REEES 312,265,035 x 14.64% (14.64% x 1.00) — 5,542 45,710, 059
DRI E 312,265,035 x 0.04% 124, 906
T &t 312,265,035 + 45,710,059 + 124,906 358, 100, 000
HEREELE 358,100,000 x 10.00% 35, 810, 000
EEIEE 358,100,000 + 35,810, 000 393,910, 000
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=] 1.00 1, 641, 569. 00 1,641, 569 |8H
Bt $ED 10t R
=] 1.00 467, 271.00 467, 271|8H
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% 0.50 2,108, 840. 00 10, 544
=1 E 1YE%HERN : 1.00E 2,119, 384.00 2,119, 384
&S :2
& r—v VEEREmER 14y
% {7 R - BIRTiE B 2 B {f € % = & =
JA—T4 VT KvH #iH5000t &
=] 56. 40 1,641, 569. 00 92, 584, 491|8H
SRR B 2HE0%
% 0.50 92, 584, 491.00 462, 922
=1 G YEZEHERN : 1.00K 93,047, 413.00 93,047,413
=
B IIL—T 1 VT 100m24y
% L R - BIRTiE BAf = B € % = s &
W—T 4 o T8%
m 2 100. 00 607. 00 60, 700
BRARAR
m 2 120. 00 37.50 4,500
=1 G {EZHERN : 100.00m 2 652. 00 65, 200
5.4
& EEEXAYY PR JLRTY b (BE) t=30mm IEED,
% 7 I - IRTE BAfg = B ® % = " &
JL%RTY F(EEBRE
B 1.00 5,130, 000. 00 5, 130, 000
=) it YEZERES 1. 00 5,130, 000. 00 5, 130, 000
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SEEFERMR)FES —VUBETE

‘S :H
2 AR H R 100m2%1Y
4 [ g - KTk BAfL H =2 B i & % W = & =
MERERSENL (5—Y DE1E) yL—okE
m 2 100. 00 2,703.00 270, 300
STTL—rvyL—r GHH AR ER) ChHEMES J&) 25tA
=] 0.20 44,100. 00 8, 820|8H
=1 Hi 1E%HERN : 100.00m 2 2,791.00 279,120
EES:6
A REIHZEH 100m2%4Y
% {7 & - KTk BAfL #H = B i ® H IS & =
REIZZEH (5— VU 8E) gL—okE
m 2 100. 00 2,091.00 209, 100
STTFL—rvyL—r HHEH AR ER) ChHEMES JE) 25tA
=] 0.20 44,100. 00 8, 820|8H
=1 it 1E%HERN : 100.00m 2 2,179.00 217,920
B5:17
2 skEAM AL (D13) SD345 1000k g H Y
% L g - KTk BAfL #H = B i & W =E 5 =
% (B SD345 D13
k g 1,030. 00 101. 00 104, 030
S AN THASL (r—Y Vo BE) gL—okE
k g 1, 000. 00 82.16 82, 160
STTFL—rvIL—r HHAARER) ChHEMEES TR 25tHA
=] 0.10 44,100. 00 4,410(8H
& it E%8EH - 1,000.00k g 190. 00 190, 600




Rz -FET/ w5 —> A7 EESHEBEEEHR) R — 8ETE
‘S :8
£ ¥ - $KEFINTHASL (D16)  SD345 1000k g4 Y
4 Ea g - KTk B H =2 fifi & % W = & =
% (B SD345 D16
kg 1,030. 00 99. 00 101, 970
S AN TS (r—v EE) g L—okE
kg 1, 000. 00 82.16 82, 160
STTFL—riL—r HHEAARER) CHEMES J&) 25tHA
=] 0.10 44,100. 00 4,410(8H
& it EZ8EH - 1,000.00k g 188. 00 188, 540
&EE5:9
2 sk T4 (D19) SD345 1000k g 1Y
% r & - KTk BAfL #H = fifi ® H IS & =
% (B SD345 D19
k g 1,030. 00 99.00 101, 970
S AN THASL (r—Y o BiE) JL—rkE
k g 1,000. 00 82.16 82, 160
STFL—yoL—r HHEAAMER) ChHEMES JR) 25tHA
=] 0.10 44,100. 00 4, 410(8H
& it E%8EH - 1,000.00k g 188. 00 188, 540
H#5:10
& : 8xFNI 45 (D22) SD345 1000k g H Y
% E3 A& - KTk BAfL #H = L] & # W =E 5 =
% (B SD345 D22
k g 1,030. 00 99. 00 101, 970
S AN TS (r—Y VU BiE) JL—oikE
k g 1, 000. 00 82.16 82,160
STFL—roL—r HEAARMER) ChHEMHES JR) 25tH
=] 0.10 44,100. 00 4,410(8H
& it YEZ%8EH - 1,000.00k g 188. 00 188, 540
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kg ,030.00 99. 00 101, 970
S AN TS (r—v EE) g L—okE
kg ,000. 00 82.16 82, 160
STTFL—riL—r HHEAARER) CHEMES J&) 25tHA
=] 0.10 44,100. 00 4,410(8H
& it EZ8EH - 1,000.00k g 188. 00 188, 540
BH5:12
£%  ZEHMHE  SS400 ¢ 55mm L=2. 75m 1A%y
Z4 {7 & - KTk BAfL = B i ® H i & =
REBHMHE SS400 ¢ 55mm L=2. 75m
S 1.00 15, 200. 00 15, 200
=1 it YEZEHERN : 1. 00K 15, 200. 00 15, 200
H5:13
B RBEAMESL  SS400 ¢ 55mm L=2. 75m 1000k g H Y
& L g - KTk BAfL = B i & b 5 =
REkAR - R/\—#Hx S5 A5 Z50mm~80mmKHE Y L— Uk E
k g ,000. 00 75.92 75, 920
& it E%8eH - 1,000.00k g 75.00 75, 920
BH5:14
2 BB PRI EN 100m2%Hy
% [ K - ARTiE BAfL = B i & # i 5 =
BRI AA ST HRSY (r— Y L BE) JL—okE
m 2 100. 00 6,077.00 607, 700
STTFL—rhL—r HHEAARER) ChHEMES TR 25tH
=] 0.40 44,100.00 17, 640|8H
& it YE%HER : 100.00m 2 6, 253. 00 625, 340




Rifik-ET/ Svr—2 A7 EESASBEERRREr— UETE
E#5:15
&% 329 ) — FTE%  30N-12cm-20mm BB W/C50% 10m3&Y
& #h & - IR By & B & & B E w =

LT4—2HRkavy)—F 30N-12cm-20mm BB W/C=50%

m 3 10.10 217,100. 00 273,710
AV Y U— MR (r— Y V) R J&

m 3 10.00 4,680. 00 46, 800
=) &t EX8ED - 10.00m 3 32,051. 00 320, 510
H5:16
B r—Y UK 2,921t/ HEED)

& #h & - IR By & B & & R E =

5lfa D 1000PSEY

H 1.00 297, 237.00 297,237/2.00H / 8H
BEm $AD 10t

H 1.00 467, 271. 00 467, 271|8H
EUI

A 2.00 21, 870. 00 55, 740
TEEER

A 2.00 20, 700. 00 41, 400
MR 2%

% 0.50 861, 648. 00 4,308
a & EERER : 1.00@E 865, 956. 00 865, 956




Rifik-ET/ Svr—2 A7 EESASBEERRREr— UETE
&5 .17
& r—YURE 2,921t/E GRRRE) EED
& #h & - IR By & B & & B E w =
EEHM AR $AD 200t
H 1.00 1, 560, 602. 00 1, 560, 602|6. 00H / 8H
5lfa D 800PSZY
H 1.00 258, 202. 00 258,202|2. 00H / 8H
5lfa 8D 2000PSEY
H 1.00 494, 723. 00 494, 723|2. 00H / 8H
KA D 270PSE! 3~5tf
H 1.00 190, 104. 00 190, 104|8H
EUI
A 2.10 21, 870. 00 58, 527
TEEER
A 3.20 20, 700. 00 66, 240
MR 2%
% 3.50 2,628, 398. 00 91,993
=) i AN 1. 006K 2,720, 391.00 2,720, 391
H5:18
&% Ef% (1) FD5, 000t FEIRE (BIL) &~ S () 1E%Y
& #h & - IR By & B & #& R E =
2
= 1.00 2,055, 000. 00 2,055, 000
BEH
= 1.00 2, 335, 268. 00 2,335, 268
E=FC]
= 1.00 5, 000, 800. 00 5, 000, 800
B R
= 1.00 121, 954. 00 121,954
RE%
= 1.00 3,117.00 3,117
a B EERER : 1.00@E 9,516, 139. 00 9,516, 139




Rz -FET/ w5 —> A7 EESHEBEEEHR) R — 8ETE
5 :18.1
# & - IR Bf Y 8 B 2 # ## H =
REE
= 1.00 1,369, 094. 00 1, 369, 094
FHR
=] 2.50 310, 824. 00 777, 060
IRE
=] 1.50 126, 076. 00 189,114
& g e - 1.00K 2,335, 268. 00 2,335, 268
5 :18.2
B BB IEED)
# % - Ik Bif B 8 B ¢ # ## H &
EihA
L 12,312.00 111.20 1, 369, 094
=) i AN - 1,00 1, 369, 094. 00 1, 369, 094
%5 .18.3
B PHR IEED)
#h % - Ik Bf % 8 B & # ## H =
A (11H/8)
A 4.00 45, 830. 00 183, 320
ERmARRT S
A 4.00 2,854.00 11, 416
EEME (1H/B)
A 3.00 36, 360. 00 109, 080
TERARBFL
A 3.00 2,336.00 71,008
=) i NE S N=] 310, 824. 00 310, 824




Rz -FET/ w5 —> A7 EESHEBEEEHR) R — 8ETE
5 :.18.4
& LRE 1H4Y
& # & - IR Bf & B £ @& ## H =
fEE (1TH/B)
A 1.00 45, 830. 00 45, 830
MERRRT L
A 1.00 2,854.00 2,854
EEME (1H/B)
A 2.00 36, 360. 00 12,720
TERARBFL
A 2.00 2,336.00 4,672
=) i ES P N=] 126, 076. 00 126, 076
&5 . 18.5
& # g - Ik By & B ¢ # ## H =
LB EERE
= 1.00 954. 00 954
XBE $EE (BE)
= 1.00 2,163.00 2,163
a & EEERN - 1. 00K 3,117.00 3,117
H#5:19
&% EfI% (2) FD5, 000t S~ FEIRE (B1L)# (HH) 1E4Y
& #h g - Ik By & B & # ## H =
2
= 1.00 2, 055, 000. 00 2,055, 000
BEH
= 1.00 2, 335, 268. 00 2,335, 268
B
= 1.00 5, 000, 800. 00 5, 000, 800
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= 1.00 121, 954. 00 121,954
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a B YESRES - 1. 00[=] 9,516, 139. 00 9,516, 139
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# & - IR Bf Y 8 B 2 # ## H =
REE
= 1.00 1,369, 094. 00 1, 369, 094
FHR
=] 2.50 310, 824. 00 777, 060
IRE
=] 1.50 126, 076. 00 189,114
& g e - 1.00K 2,335, 268. 00 2,335, 268
5:19.2
B BB IEED)
# % - Ik Bif B 8 B ¢ # ## H &
EihA
L 12,312.00 111.20 1, 369, 094
=) i AN - 1,00 1, 369, 094. 00 1, 369, 094
&5 :19.3
B PHR IEED)
#h % - Ik Bf % 8 B & # ## H =
A (11H/8)
A 4.00 45, 830. 00 183, 320
ERmARRT S
A 4.00 2,854.00 11, 416
EEME (1H/B)
A 3.00 36, 360. 00 109, 080
TERARBFL
A 3.00 2,336.00 71,008
=) i NE S N=] 310, 824. 00 310, 824




Rz -FET/ w5 —> A7 EESHEBEEEHR) R — 8ETE
EF5:19.4
& LRE 1H4Y
& # & - IR Bf & B 2 # ## H =
fEE (1TH/B)
A 1.00 45, 830. 00 45, 830
MERRRT L
A 1.00 2,854.00 2,854
EEME (1H/B)
A 2.00 36, 360. 00 12,720
TERARBFL
A 2.00 2,336.00 4,672
=) &t ES P N=] 126, 076. 00 126, 076
&5 . 19.5
& # g - Ik By & B ¢ # ## H =
LB EERE
= 1.00 954. 00 954
XBE $EE (BE)
= 1.00 2,163.00 2,163
a &t EEERN - 1. 00K 3,117.00 3,117
H#5:2
B VAR () EEMM00tE KRS ERBR) ~SHES (R 1E4Y
& #h g - Ik By & B & # ## H =
BER
= 1.00 229, 595. 00 229, 595
BH
= 1.00 349, 100. 00 349, 100
a &t YEZRES - 1. 00[=] 578, 695. 00 578, 695

10




Rz -FET/ w5 —> A7 EESHEBEEEHR) R — 8ETE
%5 :20.1
& # & - IR Bf Y 8 B 2 # ## H =
REE
= 1.00 57,045.00 57,045
FHE (X VMASIH
=] 0.50 124,180. 00 62, 090
FHE AR
=] 0.50 220, 920. 00 110, 460
=) &t e - 1.00K 229, 595. 00 229, 595
&5 :20.2
BF BB IEED)
& # % - Ik Bf Y B B ¢ # ## H &
EihA
L 513. 00 111. 20 57, 045
=) &t AN - 1,00 57, 045. 00 57,045
%5 :20.3
B FHR (XA IEED)
& #h % - Ik B Y B B & # ## H =
T
A 3.00 32, 760. 00 98, 280
TEmEA
A 1.00 25, 900. 00 25, 900
a &t ES P N=] 124, 180.00 124,180
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Rz -FET/ w5 —> A7 EESHEBEEEHR) R — 8ETE
%5 :20.4
B HHR A VHMM) 1H4Y
& # & - IR Bf & B £ @& # H =
mER
A 1.00 32, 760. 00 32,760
ERIE
A 1.00 32, 760. 00 32,760
EEME
A 6.00 25, 900. 00 155, 400
& &t EEeEH - 1.008 220, 920. 00 220, 920
H5: 21
B AVE Q) EEMM00LE SHSE~KESE(BERSBR) (ER) 1E4Y
& # Ik - kA B £ B & # # =
BER
= 1.00 229, 595. 00 229, 595
=t
= 1.00 349, 100. 00 349, 100
=) &t YEERES - 1. 00[=] 578, 695. 00 578, 695
&5 . 21.1
& - BEE IEED)
& #h Ik - RTA Bfy £ B & # # =
REE
= 1.00 57,045.00 57, 045
FHEE (ZLVMASIH
H 0.50 124,180.00 62, 090
FHEE WA LM
H 0.50 220, 920. 00 110, 460
=) &t ¥R - 1. 00K 229, 595. 00 229, 595
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E5:21.2
B RE EEL)
& # & - IR Bf % B B i # H =
il
L 513.00 111.20 57, 045
& &t e - 1.00K 57, 045. 00 57, 045
&5 :21.3
B HHE (X VMASIH EELD)
& # Ik - kA By % B B i # H &
ERIE
A 3.00 32, 760. 00 98, 280
TEmA
A 1.00 25, 900. 00 25, 900
=) &t ES P N=] 124, 180. 00 124,180
&5 :21.4
B BHR GRA VMM IEED)
& #h Ik - kA By % 2 B i # H =
mER
A 1.00 32, 760. 00 32,760
T
A 1.00 32, 760. 00 32,760
TEmEA
A 6.00 25, 900. 00 155, 400
=) &t ES P N=] 220, 920. 00 220,920
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Rz -FET/ w5 —> A7 EESHEBEEEHR) R — 8ETE
&5 :22
B RLBEM FOABE. 7—Y UtkRER EEL)
& # Rk - ok Tik Bf & B £ @& S H =
TREHRM FRP D 260PS%!
=] 3.00 114, 375.00 343,125/6. 00H / 8H
ERVAFE & EREVHF R
=] 3.00 620. 40 1, 861
HATH 2E0%
% 0.50 344, 986. 00 1,724
& &t e - 1.00K 346, 710. 00 346, 710
BH5:23
B HIMERR HERPARE(ILIS) EEL)
& # Ik - kA B £ B & S # =
EERDARE
I% 1.00 120, 000. 00 120, 000
=) &t AN - 1,00 120, 000. 00 120, 000
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